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QUESTION 1

An administrator deployed an ONTAP cluster and configured AutoSupport to use HTTPS. You notice that AutoSupport
is not sending triggered messages.

In this scenario, what are two areas to validate? (Choose two.)
A. Verify the Network Time Protocol (NTP) configuration.

B. Verify that the node management LIF is routable.

C. Verify that the Service Processor (SP) is routable.

D. Verify the DNS configuration.

Correct Answer: AD

QUESTION 2

You want to monitor and generate reports on a customer\\'s IT infrastructure, including virtual and cloud-based
components, even though the customer has not purchased or installed any ONTAP software.

In this scenario, which NetApp tool would be used to accomplish this task?
A. OnCommand Insight

B. OnCommand Workflow Automation

C. OnCommand Unified Manager

D. OnCommand System Manager

Correct Answer: A

QUESTION 3

Users are complaining about slow file access. You suspect that the ONTAP cluster is causing the problem. In this
scenario, which ONTAP command would help you troubleshoot this problem?

A. application show-statistics

B. gos statistics volume latency show
C. cluster log-forwarding show

D. storage aggregate verify

Correct Answer: D
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QUESTION 4

Which three statements are true about failover groups? (Choose three.)

A. Failover groups are not used by SAN LIFs.

B. A single port cannot reside in multiple failover groups.

C. When a broadcast domain is created, a failover group is automatically created.
D. All of the ports in a failover group must belong to the same broadcast domain.
E. All of the ports in a failover group must be the same speed.

Correct Answer: ACD

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUID92E49E15-BE9A-4C5D-ADCA-E606802CBFD4.html

QUESTION 5

An administrator creates a CIFS volume on a FAS8200 system. The administrator maps the file share and receives a
permission denied message when attempting to set an ACL.

In this scenario, which actions would help to solve the issue?
A. Set the efficiency policy on the volume.

B. Set the security style UNIX on the volume.

C. Set the security style NTFS on the volume.

D. Install SecureShare extension to set ACLs.

Correct Answer: C

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1001083/~/top-10-nfs-issues-andsolutions- (mapping
issues)
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